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Postulates - The basic facts which are taken, for

granted, without proof and which are specific to
geometry are called postulates.
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Axioms: The basic facts which are taken for

granted, without proof and which are used
throughout mathematics are called axioms.
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Theorem - The conclusions obtained through
logical reasoning based on previously proved
results and some axioms constitute a statement
known as a theorem or a proposition. A theorem
can be proved.
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Point - A point is represented by a fine dot made

by a sharp pencil on a sheet of paper. A point does
not have any length, breadth or height.
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Plane - The surface of a smooth wall or the surface

of'a sheet of paper or the surface of a smooth black
board are close examples of a plane.
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Line - A line is breadthless length. The edge of a
ruler, the edge of the top of a table, the meeting
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place of two walls of a room are some examples
of a geometrical straight line.
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Incidence Axioms:

Axiom 1 : A line contains infinitely many points.
Axiom 2 : Through a given point, infinitely many
lines can pass through.

Axiom 3 : In given two points A and B, there is
one and only one line that contains both the points.
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Collinear Points - Three or more points are said

to be collinear, if there is a line which contains all
of them.
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Concurrent Lines - Three or more lines are said
to be concurrent, if there is a point which lies on
all of them.
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Intersecting Lines - Two lines which meet at
one point are said to be intersecting lines. The
common point is called the 'point of intersection'.
Note :- Two distinct lines cannot have more than
one point in common.
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Parallel Lines - Two lines / and m in a plane are
said to be parallel lines, if both of them will never
intersect each other. If / and m are two parallel
lines in a plane, we can write /||m.
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Parallel Axiom - If / is a line and p is a point not

on line /, there is one and only one line m which
passes through b and is Parallel to /.
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Two lines which are both parallel to the same line,
are parallel to each other.
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If [, m, n are three lines in the same plane such that
[ intersects m and n||m, then [ tntersects n also.
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If [ and m are intersecting lines, /||p and q/m,
then p and q also intersect.
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If lines AB, AC, AD and AE are parallel to a line
[, then points A, B, C, D and E are collinear.
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Line Segment - In given two points A and B
on a line /, the connected part (segment) of the
line with end points at A and B, is called the line
segment AB.
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Interior Point of a Line Segment - A point P is
called an interior point of a line segment AB, if P
lies on the line Segment AB but P is neither A nor B.

IGTErSl & Gal TgHdT — 37 YIS AB 3R
CD \aiH| B1d &, Ife AB T CD |UTdl &7 |

Congruence of Line Segments - Two line
segments AB and CD are congruent, if AB and
CD are coincident.
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Line Segment Length Axiom - Every line

segment has a length. It is measured in terms of
'meter’ or its parts.
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Congruent Line Segment Length Axiom - Two

congruent line segments have equal length and
conversely, two line segments of equal length are

congruent. i.e. AB=CD<>I(AB)=[ (CD).
Gl S Sis ARFE — afe C @ Hs AB
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Line Segment Addition Axiom - If C is any interior
point of a line segment AB, then AC+BC= AB

A C B
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Line Segment Construction Axiom : Given a
point O on a line / and a positive real number
r, there are exaclty two points P, and P, on /, on
either side of O such that

(OP)=r, (OP,) =rcm.
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Distance between Two Points - The distance

between two points P and Q is the length of the
line segment joining them and it is denoted by

PQ.
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Betweenness - Point C is said to lie between the
two points A and B, if A, B and C are collinear
points and AC + CB = AB.
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Midpoint of a Line Segment - Given a line
segment AB, a point M is said to be the mid-point
of AB, if M is an interior point of AB such that
AM=MB.

Line through M, other than line AB, is callled the
bisector of the segment AB.
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Opposite Rays : Two rays AB and AC are said to

be opposite rays if they are collinear and point A
is the only common point of these two rays.
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Some Euclid'a exioms:

(a) Things which are equal to the same thing are
equal to one another.

(b) If equals are added to equals, the wholes are
equal.

(c) If equals are subtracted from equals, the
remainder are equal.

(d) Things which coincide with one another are
equal to one another.

(e) The whole is greater than the part.

(f) Things which are double of the same things are
equal to one another.

(g) Things which are halves of the same things are
equal to one another.
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Euclid's Five Postulates:

(a) A straight line may be drawn from any one
point to any other point.

(b) A terminated line can be produced indefinitely.

(c) A circle can be drawn with any centre and any
radius.

(d) All right angles are equal to one another.
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(e) If a straight line falling on two straight lines
makes the interior angles on the same side of it,
taken together with less than two right angles, then
the two straight lines, if produced indefinitely,
meet on that side on which the sum of angles are
less than two right angles.
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Fifth postulate of Euclid imply the existence of
parallel lines.

Multiple Choice Questions

(sgfameda yw)
Uh S D I BId B |
a. Ud b ar
c. d. NG
A solid has ............... dimensions.
a. One b. Two
c.  Three d. Zero
TP fdg &1 MM oo BIdl 2 |
a. Ud b Ell
c. M d. NI
A point has ......cccceeeenee dimension.
a. One b. Two
c.  Three d. Zero

fixife @ 3MUR &1 ATHR 22—
a. Bys b. Cli

c. IR d. @IS W 95
The shape of the base of a Pyramid is:-

a.  Triangle b. Square

c.  Rectangle d. Any polygon
g @l TFI'HTQ' DHEAT % —

a. dg b. CED

c. @ d. fa=gatt

The boundraies of solid are called:-
a. Surfaces b. Curves
c. Lines d. Points

AMHfa &1 b g d sl o
a. odrs, dIers IR Hies

b. ddd oqTs IR drse
c. Bdd @dTs IR HICS
d. ®dd disrs 3R diers

A surface of shape has:-

a.  Length, breadth and thickness
b.  Length and breadth only

c.  Length and thickness only

d.  Breadth and thickness only
aag & fear ¥

a. ﬁg&ﬁ b. EEQ

C. W d.

The edges of the surface are:-

$TH ¥ Pl Tl

a. Points b. Curves
c. Lines d. None of these

S 9 DI 91 $uA Yfaas @ ARz <1
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a. S Aol U B ANl & SRER § 9 U I
@ SRIER BT E |

b. IR IR H I IR H ST oY, A goi
IR B T |

c. e IRERI H ¥ R} BT "l feAr o
Tl AThA RIS BIAT © |

d. Yol 3O 9T 9 BITT 2|

Which of these statements do not satisfy

Euclid's axiom?

a. Things which are equal to the same thing
are equal to one another

b.  Ifequal are added to equals, the wholes are
equal.

c.  If equals are subtracted from equals, the
remainder are equal.

d.  The whole is lesser than the part.
frafafaa & @ <9 91 o v 2?2

a. U fdg W dacl Ud 81 Nl ToR Al g |

b. U Sd Y@ & S ] STerT—arerT figat
A BIPR o & |

c. U Wid @l Bl qHl I} JHRFd w9 |
IETAT ST AheT 2 |

d. 3T a1 g9 warEd 8 91 S9!
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Which of the following statements are true?

a. only one line can pass through a single
point.

b.  There is an infinite number of lines that pass
through two distinct points.

c. A terminated line can be produced
indefinitely on both sides.

d.  Iftwo circles are congurent, then their radii
are unequal.




9. 99 @ Do 4 9@l uRfT & fed g a@ The three steps form solids to points are:-
Ra=t w13 @1 BTl 83— a.  Lines - points - surfaces - solids
a. =rear b. I b Lines - surfaces - points - solids
c. guAETS d. a1 c.  Solids - lines - surfaces - points
The line drawn from the center of the circle to d. Solids - surfaces - lines - points
any point on its circumference is called:- 13.  IRF[E AM e §
a.  Radius b. Diameter a. U
c.  Sector d. Arc b,  uRwmy

10. gfads @ AREROIS B HoI AT ........... c. R @ fru ffre e g
----- i d. TR @ @ el @ fre Wi
a. o b. EIN g
c. df d. £ Axioms are assumed
There are ..........cee.. number of Euclid's a.  Theorem.
Postulates. b.  Definition.
(a)  Three (b)  Four c.  Universal truths specific to geometry.
(c) Five (d)  Six d.  Universal truths in all branches of

11. gfads @1 uradl fdeRem 28— mathematics.
a. gl AT T B 14. fr=faRaa & @ feasr yamor @) snaz@edr 27
b. AT FHBIT b AN & SRTER BN & | a.  uReT b 3rfdERm
c. afX ue A @ <1 e @i w AR c. W d.  ffed
€ O U & dR% D IMARD BV gl & g Which of the following needs a proof?
AR &1 & HH FHSIOT §¢ S ®, Al al a.  Definition b. Postulate
A Y@rg §913 I § 1AREd Fe @, 99 ¢ Theorem d  Axiom
NG fAerd € R e & @l a1 g & o ag o1 & b At x+y=102 At x+y+z=
VBT P I & | 10+22 | gfacrs &1 JPFHT Hoe ot g4
d. TP g9 Bl B 9 D SR faer «ff B $UT Bl <oidT & 98 2—
& 1 afefe fepar S e 2 a A ARNEE b, W AN
Euclid's fifth postulate is :- e ORI aﬁjl—iﬁﬂ d. er TRIRTE
a. The ‘.Vh()le is greater than the part It is known that if x + y = 10 then x +y + z
b.  Allright angles are equal to one another. = 10 + z, Euclid's axiom that illustrates this
c.  Ifastraight line falling on two straight lines statement is:-
makes the interior angles on.the same side of it a.  First Axiom b. Second Axiom
ghenueha e i ot bbe o i swom 4wt o
on that side on which the sum of angles is less 16. @Y ¥R BI<l € Af 9 yfaqese 9 &
than two right angles. D 9 H dal AT e:—
d. A circle may be described with any centre A gReET b. T
and any ra-dlus. . ; d =

2. S 4 ﬁg @b & i AR 2 'Lines are parallel if they do not intersect' is
a. @ — fdg — Hdg — o stated in the form of :-
b. @V — @de — ﬁg -39 a.  Definition b. Proof
c N — Y@y — gdE — ﬁg c.  Postulate d. Axiom
d o — waE — Yu-fig 17. foifis & ured w2
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a. g b. s c. Bothaandb
c. dEA d. R d.  None of these
The side faces of a pyramid are:- 22. 3 sra—grer figal @ fav e e
a. Square b. Triangles gl @ S I B ilﬁﬂ?ﬁ el
c.  Polygons d. Trapezium a. b. A
18.  gfacrs A @er f6 Wl GHBIT Th—gIR B c. 3Md d.  fedra
W B 8 | 4 $UA fod ©U § a1 1 22 For two distinct point, there is a ............. line
N natte b. i which passes through them.
. 2 d R a. Two | b. Thr.ee
c.  Infinite d. Unique
Euclid stated that all right angles are equal to
each other is in the form of :- 23, WIAXET BT o FETAT ST {HaT & |
a.  Definition b. Proof a.  fARad vu @ b. FfAfRad vu &
c.  Postulate d. Axiom c. adiR bgMl d. PIg Bl
19. it I3 (odds ¥) 4 AA@ifoa wufgearg The terminated line can be produced ........... .
el @ " 8- a.  Finitely b.  Indefinitely
a. 7 b. ] c. Bothaandb d. None
c. 9 d 11 24, &l A @5 @I dABR SR EE2
The number of interwoven isoceles triangles in Ueh g1 Hidr ST aahdl =
Sri Yantra (in the Atharvaveda) is:- a. @IS W AR b. H1E A gRfEY
a7 o 8 c. BIg A R d 3 IA @ g T8l
C. 9 d. 11 . .
] A circle can be drawn with any centre and
20. I axqgQ UP & axg @) SR @) el -
a. IR a.  Any diameter b. Any permeter
b. T c.  Anyradius d. Not confirm
c. U € G B ST 25. Ol WUSIVT TH GER D ... BId 2 |
d e & A9 B o R a. IR eI b. R
The things which are double of the same thing c. a3 baHl d. PIE TE
are:- All right angles are .............. to one another.
a.  equal a.  Notequal b. Equal
b unequal c. Bothaandb d. None
c.  double of the same thing 26. <@ 3relT—oTel Y@=y § Jd e
d.  halves of the same thing fig Swafrs € & "ad |
21. e WHiEf @ fedl e fdg 9 i o a o b aE
APl B:— .
_ c. ¥Ad d. Uh
8 @I I ﬁg P Two distinct lines cannot have more than .........
b. @IS I Tl fdg P points in common.
c. adR bTHl a. Two b. Three
d. T 9 Pis € c.  Infinite d. One
A straight line may be drawn from any one 27 <1 @I waEia} gl ©, o
point to:- a. d9IH QR T
a.  Any other point b, T 9HM
b.  Any other two point
HEMT-12 (TUTe) —




c. TP W R YIS fdg $ ofdgad g a0 32,

XGT F FAE Bl ©
d. b3R cTHl

The two lines are parallel, when
a.  They are equdistant
b.  They are equal

& fag 4 99 & R Rera fagan &1
fSguer dramdr a:—

a. b. Einl

c. QrEgd d. 3mgd

c

The locus of points which is is at a same distance
from a point is known as:-

c.  Perpendicular distance of each point on one a. Square b. Circle

line is same from the other line c.  Ellipse d. Rectangle

d. Bothbandec. 33, A HA 2, ol gRvraresn, wafug
28. |l WHMHIAR IR P gl aidl 28— A1, Ugad 9 Rig sl iR fFrmErss

a. GEH b. UG LhH dd b1 SUANT dxd g Py W & |

c. A d.  oRwifva =& a. gRUM b. W

The slopes of two parallel lines are:- c. adiR bTmMi d. DIg &I

a.  Equal b. Negative reciprocal ... are statements which are proved

c.  Zero d. Not defined using defintions, axioms, previously proved
29, @) Y@t B o9ad 99 bar oA 2, Sie staten:nts art;l deductivlj reaso;l}ilng.

a. ssumptions . eorems

a. ST & BT POTI80°E c. Both ale)mdb d. None

b. B T BT BT 270°7 M. T grond @ o) ardaife aw

c. TAD 9/ H BT 90°7 & AfpT a Rig T8 &

d. SS9 @ B0 7 a. SN b, afErRom

The two lines are said to be perpendicular, c. gRUMY d. a3} b Ml

when:-

a.  Angle between them is 180° truthsbuirteht:;e:::l::)ltt i;:_lsvv::iCh are universal

b.  Angle between them is 270° 4 Axioms b. Postulates

¢.  Angle between them is 90° c.  Assumtions d. Both aand b

d.  Angle between them is 0° 35 ®Ig ot Q1 @ TP TR B DA ..o
30. @r ¥ fed g & g8 skl - . fig w yfo=Be o=t &

. TR BN b R o g S b

c. ogad d. a 3R ¢ gl c. aFd d. HIel Th

The distance of any point from the line is the:- Any two lines intersect each other in a ...........

a.  Shortese distance point only.

b.  Longest distance a. Two b. Three

c.  Perpendicular distance c.  Infinite d. Single

d.  Bothaandc. 36. qd @ w@arg & A g @Y gl
31. <@ I3 yfaesd @ ue & @r a. ol b.  uRE

U e T8 g wadl| c. &g d. Broar

a.  99q b. IR The length of the circle means .......... of circle.

c. Uyl d. BIg Tl a.  Chord b. Circumference

Two distinct intersecting lines cannot be .......... c.  Diameter d. Radius

to the same line. 37. T D BN AN P @92 b1 aref i

a.  Perpendicular b. Parallel o ORI b, B

c. Intersecting d. None

THET-9 (0T —=
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c. fapot d. PIg &l

The length of boundry of square means:-

Thales was the mathematician of which
country?

a.  Perimeter b. Area a.  Babylon b. Eg}fpt
c.  Diagonal d. None c.  Greece d. India
38. g BT dFGd (HR HIAT B 4. TR fwe R o
4 B b. gRfer a. ocq b. g RS
c. @ d. s A wh c. STivE . e
The area of circle depends on:- Whose disciple was Pythagoras?
a.  Radius b. Circumference a.  Thales b. Euclid
c.  Diameter d. All of the above c.  Aryabhata d. Newton
39. e amad @ wf) g awrew &, s9 dar Afeers & ufig uer 1 A 8
ST 2 a. UfedcH b.  SaifAfa
a. ©9 b. T c. TS d.  Xdq
c. I d. AT What is the name of Euclid's famous treatise?
The rectangle having all sides equal is known as:- a. Elem.ents b. Geometry.
a. Cube b. Quadrilateral c.  Euclid d. Construction
c.  Square d. Cubiod Multiple Choice Questi
. o ultiple Choice Questions
40. ;ﬁ*aﬁ%@aﬁmamwﬁ,ﬁﬁ%w (Fefweta v)
A AR b, oigad 1. @ TS B dredi AR FHEIOR @it
SR R NI @ IRTT FT Fba <<l &7
If the slopes of the two lines are equal then Does Euclid's fifth postulate imply the existence
these linespare'- d of parallel lines?
a.  Parallel b. Perpendicular 2. FfafeaT Safafd dae gAEER el @ forg
c.  Normal d. Intersecting A 8, WEN AT TAq?
41. ?Lﬁﬂg fog <91 @ fard 92 Euclidean geometry is valid only for curved
b surfaces, True or False?
a.  ddId . Ere :
3. 9dg @ &R 9% € @& A1 T ?
c. A d  ¥9Ra . .
The boundaries of the solids are curves, True or
Euclid was resident of which country? 9
False?
a. Babylon b Egypt 4, A8 ® IR 9% € 98 A1 To?
c.  Greece d. India The ed ; " T False?
. . e edges of a surface are curves, True or False?
42. Jf¥ds &1 a9 d91 U Ufericy fdaq . _
any & frRn 82 St avgy U € avg 1 A B § 9 U g
.9 b " @ RIER BT &, A8l AT Teld?
c 12 d 13 The things which are double of the same thing are
' ' 1t ther , T False?
Euclid's biggest treatise Elements is divided cqua ione ano uer :\ rueor raise
into how many parts? 6. MU Ifdere @I Urddl JMMURIT BT iR | &4
a. 9 b. 11 foRdTT T1fch 0 ST 3T &1 9Ig?
C. 12 d. 13 How would you rewrite Euclid's fifth postulate so
43. o9 fhg 291 & OGS o | that it would be easier to understand?
a. ddIaM b. = 7. Ifads @ AfEIfRal o g § SIfRd 5 @l
c. A d  9Rd ARG I R A SIar 27 @& € fh ued
HET-9 (TfoTd) —
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If dfedi IffeRo & 9R # 781 §) 5. T e i x+y=103R x=z fe@d f&
Why is axiom 5, in the list of Euclid's axioms, z + y =10.
considered as 'universal truth? (Note that the Itis know that x +y =10 and that x = z. show that
question if not about fifth postulate) z+y=10.
8. famgfdhat+tb=15aa+tb+c=15+c.ar iR Long Answer Type Questions
JaTe BT BIF AT JARART HAT 5 HAT DI (&ref ST ye)
geriar 87 _ e
Given that a4 b — 15 thena - b + o — 15 + 1. it we fdg C 31 fdgeli ASiR B® 419 39 UaR
iven that a = en a c= C. AR
then which of the Euclid's axiom illustrates this ﬁl{bﬁ 8 fb AC=BCE, dI fig f& AC=
statement ? EAB%}H%B[Q PR |
9 A &R HaT &1 99 GHE B IS SIH 9 If a point C lies between two points A and B such
UAP BT gor 2 fhalum™ 9¢ Wrdr 2, a1 S gla;l?ir(:b: (ligrg’ iilg?hg?ger;hat AC = 12 AB.
X y draw igure.
Y GO & dre AT Bl TUET BIFY | N _ .
Ravi and Ketan have th TRt - Q. 1 ¥, fdg C &1 X@1 TS AB &1 Aeg—fdg FaT
avi and Ketan have the same weight. ey eac N2 NI .
gain weight by 2 kg, calculate the comparison R _1%5 N T 8D
between their new weights. 3R Dhefel Th H%I{—ﬁg &I % |
10. T Yo T @ WeN § 9HH 9 B © | In Q. 1, point C is called a mid-point of line
RidR 3§ TIPS JoadT NI HEN @) ot segment AB. Prove. that every line segment has
A @y @ R o & RideR 3 S g one and only one mid- point.
#) e FR | 3. AR AU Y SR wRfaeER N
Two salesmen make equal sales during the month (1) IEUSE R 5 ﬁg&ﬁ A SR B @1
of August. In September, each salesman doubles SECh g, U et g C Hige € ST AR B
his sales for the month of August. Compare their @ 99 2|
sales in September. (i) @9 ¥ B I g A & o v & ¥
Short Answer Type Questions W o
GEESHEERES)) R 39 RO H IS SURANT U e
87 T Y AMYRUMY GATT 87 &1 d Gfaals Bl
1. gfade & SfHfa & di= iRy F&1 8? : :
SIAEROTBIT T ATERVT B &?° AR B |
What are the five postulates of Euclid's Geometry? Consider the two 'postulates’ given below:
2. af¢ AC=BDE, d1 g FIT f6 AB=CD?| (i)  Given any two distinct points A and B, there
': }i g Iz exists a third point C, which is between A and B.
(i) There exists at least three points that are not
If AC = BD, then prove that AB = CD. on the same line.
é ]2 g ]3 Do these postulates contain any undefined terms?
o Are these postulates consistent?
IECIY +BC +
3 A ]fﬁ AI({: ” AEI;) BCE CDF G u Do they follow from Euclid's postulates? Explain.
Show that AH > AB + BC + CD. Multiple Choice Question
A B € D EFE G H (iAo )
o 1le 2d 3d 4a S5b  6c  7d
4. AR A, B3R CUP Y@ W Red i fig aik : ©
oot A G C o o 8.c 9.a 10c 1l 12d 13d l4c
Bfigell ASIR C& a1 Rerd & 1 Rig @Y 15, 162 176 18c 19 202 2la
f" AB+BC=ACZ®| 22d  23b 24c 25b 26d 27c 28.a
If A, B and C are three points lying on a line and 29¢  30c  3Lb 32b 33b 34d 35d
B lies between the points A and C, then prove that 36b 37c  38d  39c 402 4lb  42d
AB +BC =AC. 43¢ 44 .a 45.a
HE(T-9 (TfOT) —




Very Short Answer Questions

(arfa og ST gl @ SWR)

1. &l, Yes
2. TeTd, False
3. T1d, False
4. Teld, False
S. wel, True
6. &I = ufcreodl v ue € Wl & |HIR T8l
EESERIE
Two distinct intersecting lines cannot be parallel
to the same line.
7. fawa & 41 90T A [ o axg & forg I8 9
g gAY 39 ARG q AHT Il & |
It is valid always for everything in the universe.
Hence this axiom is known as universal truth.
8. galg JTfIfEd (Second Axiom)
9. TR (Equal)
10.  sR1eR (Equal)
Short Answer Questions
(g ST 9=l @ SR)
1. a) U g A g &g I g el v i<
ST A 2 |
b.) UH AT @ P JAMRIT $I H QT S
Hehel & |
c.) Tl f dg R A O By Eﬁﬁ%?@ﬁ
qd AT ST Fhdr ¥ |
d) ol FABIT Th AR B a_ISR B |
e.) Ife B A War W @i w AR
g O SHPI Th R% & IMARSG BT QT
FHPIVI | HH d9d o, A &l A @
JFRFT I TPh FBIY S WR, SH TRB
g 8 59 % @& SN &1 AT QT
HHADIT H HH BT 2 |
a.) A straight line may be drawn from one point
to any other point.
b.)  Aterminated line canbe produced indefinitely.
c.) A circle can be drawn with any centre and
any radius.
d.)  All right angles are equal to one another.
e.) If a straight line falling on two straight lines
HE(T-9 (TfOTe)

(51}

makes the interior angles on the same side of
it taken together less than two right angles,
then the two straight lines, if produced
indefinitely, meet on that side on which the
sum of angles is less than two right angles.

fear 8, AC=BD............... (1)
o 9,
A B C D
@ © o ®
AC=AB +BC..ccoouuee..... )
BD =BC +CD......cceevre.... (3)

THHRT (1), (2) 3R (3) &
AB+BC=BC+CD
34Tt AB = CD FTfud

Given, AC=CD....ccevverrreenn.n. (1)
From Figure,

A B C D
[ ®  J
AC=AB+BC
BD=BC+CD
From Equation (1), (2) and (3)
AB+BC=BC+CD

. AC=BD Hence Proved

A B C D E F

= 4
AB +BC +CD =AD

0
L

AD, AH &T Tdh 917 &,

gfaes & MR & AR, " T 91T A g9
%—ln

1.e AH > AD

Jd: TS AH > TS AD

. AH>AB+ BC + CD wafud

A B C Il) E F

+0
L

From Figure
AB+BC+CD=AD

AD is a part of AH.

According to Euclid is axiom, "The whole is
greater than the part.'

i.e AH>AD
Hence, length AH > Length AD

AH >AB + BC + CD Hence Proved

)



HET-9 aTfoTe

A B C

feor @ BUs g & 1 AC Y@ # 7| gfaere
RO 9,
AC-AB=BC

AC=AB+BC gafud

A B C

< »
<« '

Given B is a point which lies on the line AC from
Euclid's postulate,
= AC—-AB=BC

AC =AB + BC Hence Proved

AT e x+y=10m, (1)

3R X=Z oo 2)

gfders fgdlia aifilfed &, SRRl & SRR+
Sires W= ol ff aRTeR Bl 2 )
THIBROT (2) |

X+ty=z+ty

BT (1) |

z+y=10

3 z+y=10 Ans

Given x+y=10....cccc...... (D
and X=Z  oveeeeeeeeeens 2)

From Euclid second axiom If equals are added to
the equals, the wholes are equal.

From equation (2)

Xty=z+y

From (1)

z+y=10
z+y=10 Ans

Long Answer Questions

(et S el @ STR)

A C
@ @
faar 8 AC=BC

39,

Tl vel § AC Sired )
AC+AC=BC+AC
2AC=BC +AC

B9 WA ©

BC +AC =AB (it %)
. 2AC=AB

= AC= %AB AT

[ Jos]

A
@

Given AC =BC

Now,

add AC to both sides
AC+AC=BC+AC
2AC=BC+AC

Since, we know

BC + AC = AB (From figure)
J.2AC=AB

. AC= %AB Proved

[ X@!
ow

A P Q B

® *—© ®

AT AB Ud vEs 2 forae &I /ey fawg paer
QT

AP=PB....ccceooeun.... (1)
3R AQ=0QB....ccceueuenr.... )
31d,

BP+AP=AB ............. 3)
(" BP+AP YT AB & UK € |)
I UPR

QB+AQ=AB ... 4)
379

Fio(1) & T GE F AP T
AP+ AP=PB + AP

(SRR # aRIERT DI Sl WX aRomd T a_1aR
BIdT T )

S 2AP=AB............ (5) (IH103 W)
I UPR

2AQ=AB....cccouuunn.... (6) (o 4)
THlo (5) qAT o (6) 9,

=AP=AQ

3 gH I8 py arel |ad © fb P @ Q
JUreh B 1 ¥ 9 91 BT faRIEmY ® f P Q
QT ST 37T a5 7 |

31T TR AT BT el T & 7 fawg i 2 |

A P Q B
@ o—© ®

Let AB be the line Segment Assume that points P
and Q are the two different mid points of AB

Therefore, AP =PB................... Q)
and AQ=0QB......cccceee.. (2)




Also,

BP+AP=AB ................ 3)
(As it coincides with the segment AB)
Similarly,

QB+AQ=AB ...cccceeene. (4)

Now, Adding AP to the LHS and RHS of the equa-
tion (1), we get

AP+ AP=PB + AP
(If equals are added to equals, the wholes are

equal.)
. 2AP=AB.......cc........ (5
Similarly
2AQ=AB...cccoeeueinn. (6)
From (5) and (6)
= AP=AQ

Thus, we conclude that P and Q are the same
points. This cantradicts our assumption that P and
Q are two different midpoints of AB.

Thus, it proved that every line segment has one
and only one midpoint.

1, 3 AfuRomel # fawg, Y S SR
ug B |

3 AMERUMY GATT © F1fdh A QT 7T axgaii
BREIECCI

3 BT Yfders B SIWURCISAT BT UTeld el
FRA NG Yfaers & AfFIa a1 fa=gell | dad
T 21 X @i 1 Haell 87 Bl 9T HRal © |

Yes, these postulates contain undefined terms like
point and line.

These two statements are Consistent as they talk
about two different situations meaning different
things.

These statements do not follow Euclids postu-
lates but one of the axioms about "Given any two
points, a unique line that passes through them" is
followed.

HE(T-9 (TfOT) —=






